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MAC 2312
Fall 2019
EXAM 3

A. Sign your scantron on the back at the bottom in ink.

B. In 'pencil, write and encode on your scantron in the spaces indicated:

1) Name (last name, first initial, middle initial)
2) UF ID Number
3) Section Number

C. Under "special codes", code in the test ID number 3, 3.
1 2 • 4 5 6 7 8 9 0
12.45 6 7 8 9 0

D. At the top right of your answer sheet, for "Test Form Code", encode C.
A B • D E

E. 1) This test consists of twelve 2.2-pointsmultiple choicequestions and two free response
questions worth 14points for a total of 40.4/40points.

2) The time allowed is 90 minutes.
3) You may write on the test.
4) Raise your hand if you need more scratch paper or if you have a problem with your

test. DO NOT LEAVEYOUR SEAT UNLESSYOU ARE FINISHEDWITH THE
TEST.

F. KEEP YOUR SCANTRON COVERED AT ALL TIMES.

G. When you are finished:
1) Before turning in your test, check for transcribing errors. Any mistakes you leave in

are there to stay.
2) Bring your test, scratch paper, and scantron to your proctor to turn them in. Be

prepared to show your UF ID card.
3) Answerswill be posted in E-Learning after the exam.
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Be sure to bubble your answers to questions 1-12 on your scantron.

1. Choose the integral that represents the length of the curve.

x = 4t - e. y = 8~ (t3/2), 0 ~ t ~ J3

[,;3
A. Jo 2t - 4 dt

[,;3
B. Jo 2 - 4t dt

[,;3
C. Jo 4 - 2t dt

[,;3
D. Jo 4 + 2t dt

[,;3
E. Jo 2vt2 - 12t + 4 dt

2. Let f(x) = 8x + cosx, and T(x) be its Taylor series, centered at O. Find the Taylor
Polynomial T2 approximation of f(O.l).

A. 0.995 B. 1.695 C. 1.795 D. 1.805 E. 2.205

3. Find the second derivative of the curve at the given point.

C(t): (tet,et), at the point (e,e)

A ~.4 B.
1
3e

C.
1
8e

D.
1
4e

E.
e
4
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7r
A. 4-e B. err+4 C. sin 1 - e

4e

E.
e7r- 4:
4e

D. tan 1- e

5. Describe the graph of the polar equation

r = 4cose - 2sin e
by converting it to a Cartesian equation first.

A. A circle centered at (2,1) with radius being 5.

B. A circle centered at (2, -1) with radius being v'5.
C. A circle centered at (2, -1) with radius being 5.

D. A circle centered at (-2, -1) with radius being v'5.
E. A circle 'centered at (0,0) with radius being v'5.

6. Find the Taylor Series of eX, centered at 2.

7. Which polar coordinates below does not represent the same point as the others?

A. (-r,~) B. (r,~) D (r -~). , 2

2C
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t" 00

8. Let io e-x2 dx =L cnxn. How good is the approximation if we use the first 2 terms
n=O rO.1

of this series to approximate the definite integral io e-x2 dx?

A. 1 1 1[error] <- B. Ierror I<- C. [error] < 7 ,- 106 - 60 - 10 ·7·3.
1 1D. [error] ~ 105. 2! E. [error] ~ 103. 3!

9. Which of the followingexpressions evaluates the area of the region between the 2 curves
in the first quadrant?

A. 17r/29 - 9 cos(20) dO

t= 17r/4B. io 9 dO - ° (9cos(20))2 dO

r: 97l'
C. io (9cos(20)? dO - 4

97l' 117r/4D. - - - 9cos(20) dO
4 2 °
(h rBI

E. io 9cos(20) dO - io 9 dO, (01 is where the 2 curves intersect)

10. Use the Maclaurin series for f(x) = arctan x to evaluate f(2019)(0).

A. -(2019!) B. -(2018!)
2019!

C. -1009!

2019!
D. 1009!

2019!
E. 4039

3C
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00

11. LetLen(x-5t be a powerserieswith 0 < R < 00, where R is its radius of convergence.
n=OSuppose the series convergesfor x = 4.5 and diverges for x = O.What can be said about

00 00

the two series f :L en and g: L( -ltcn?
n=O n=O

A. f: Not enough information; g: Not enough information

B. f: Not enough information; g: Diverges

C. f: Converges; g: Converges

D. f: Not enough information; g: Converges

E. f: Converges; g: Diverges

12. Which integral below indicates the area enclosed in the curve r = sin(40)?

A. 16 ( ~ (' r' dO)

D. 8 ( ~ (' r' de)

B. 8 ( ~ (' r' de)

E. 40(' r' dO)

c. 4 ( ~ (' r' de)

End of Multiple Choice problems
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